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Orange E

12+42

1394 - 199

1+2+3+4+5+6+7+8+9

What is 598 x 5?

In a tray of drinks, there are 4 rows of 6. How many drinks are there in
a tray?

?+11=5
49 +2=7

The following prices are the prices of apples in 4 supermarkets. Order
them from cheapest to most expensive:

Morrisons = 45p

Tesco = £0.43

Asda = £0.38

Waitrose = 49p

Katy is a builder. She is building a house with 8 windows on the ground
floor, 6 windows on the first floor and 2 windows in the attic. How many
windows does Katy need to order?



